
FI Laatikoston kiinnityssarja DE Befestigungssätze

SV Monteringssatser FR Kit de montage

EN Fastening set ES Kit de sujeciones

Quick assembly video

Treston Oy Sorakatu 1, FI-20730 TURKU • Tel. +358 10 4469 11 • info@treston.com • treston.com

ASSEMBLY INSTRUCTION
900806

2017-06-07
1 (2)

M6 x 20

M6 x 20

M6 x 20

860 930
860 931

860 239



ASSEMBLY INSTRUCTION
900806

2017-06-07
2 (2)

M6 x 20

4 x 20


